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tuple

A tuple is a collection which is

ordered and unchangeable

tuple = ("ap ​ple ​", " ​ban ​ana ​", " ​‐
che ​rry ​", " ​ora ​nge ​", " ​kiw ​i", " ​mel ​‐
on", " ​man ​go")
print( ​thi ​stuple)
print( ​thi ​stu ​ple[1]) =>"b ​ana ​na"
print( ​thi ​stu ​ple ​[-1]) =>"m ​ang ​o"
print( ​thi ​stu ​ple ​[2:5]) =>"c ​herry
... kiwi"

print( ​thi ​stu ​ple ​[-4 ​:-1]) =>( ​'or ​‐
ange', 'kiwi', 'melon')

------ ​--- ​--- ​--- ​--- ​--- ​con ​ver ​t-- ​--
- ​--- ​--- ​--- ​-----
x = ("ap ​ple ​", " ​ban ​ana ​", " ​che ​‐
rry ​")
y = list(x)

y[1] = " ​kiw ​i"
x = tuple(y)

------ ​--- ​--- ​--- ​--- ​--- ​loo ​p-- ​--- ​--
- ​--- ​-------
thistuple = ("ap ​ple ​", " ​ban ​ana ​",
" ​che ​rry ​")
for x in thistuple:

 ​ ​pri ​nt(x)
------ ​--- ​--- ​--- ​--- ​--- ​tes ​t-- ​--- ​--
- ​--- ​-------
thistuple = ("ap ​ple ​", " ​ban ​ana ​",
" ​che ​rry ​")
if " ​app ​le" in thistuple:
 ​ ​pri ​nt( ​"Yes, 'apple' is in the
fruits tuple")

------ ​--- ​--- ​--- ​--- ​--- ​-le ​n-- ​--- ​--
- ​--- ​--- ​--- ​-----
thistuple = ("ap ​ple ​", " ​ban ​ana ​",
" ​che ​rry ​")
print( ​len ​(th ​ist ​uple))
------ ​--- ​--- ​--- ​--- ​--- ​-de ​l-- ​--- ​--
- ​--- ​--- ​-------
thistuple = ("ap ​ple ​", " ​ban ​ana ​",
" ​che ​rry ​")
del thistuple

------ ​--- ​--- ​--- ​--- ​--- ​-jo ​int ​upl ​‐
es- ​--- ​--- ​-------

 

tuple (cont)

tuple1 = ("a", " ​b" , " ​c")
tuple2 = (1, 2, 3)

tuple3 = tuple1 + tuple2

------ ​--- ​--- ​--- ​--- ​--- ​--- ​--- ​--
- ​--- ​--- ​--- ​--- ​--- ​--- ​-----
thistuple = (1, 3, 7, 8, 7, 5,

4, 6, 8, 5)

x = thistu ​ple.co ​unt(5) =>nb of
repetiton of 5

x = thistu ​ple.in ​dex ​(8) ​=>3 is the
first location of 8

sets

A set is a collection which is

unordered and unindexed

thisset = {"ap ​ple ​", " ​ban ​ana ​", " ​‐
che ​rry ​"}
print( ​thi ​sset)
------ ​--- ​--- ​--- ​--- ​--- ​--- ​--- ​--
- ​--- ​--- ​--- ​------
for x in thisset:

 ​ ​pri ​nt(x)
------ ​--- ​--- ​--- ​--- ​-ch ​eck ​--- ​--- ​--
- ​--- ​--- ​--- ​--- ​------
print( ​" ​ban ​ana ​" in thisse ​t)= ​>true
or false

------ ​--- ​--- ​--- ​--- ​--- ​add ​--- ​--
- ​--- ​--- ​--- ​--- ​-------
thisse ​t.a ​dd( ​" ​ora ​nge ​")
thisse ​t.u ​pda ​te( ​["or ​ang ​e", " ​man ​‐
go", " ​gra ​pes ​" ​])= ​>add more than
one

------ ​--- ​--- ​--- ​--l ​en- ​--- ​--- ​--
- ​--- ​--- ​--- ​-----
print( ​len ​(th ​isset))
------ ​--- ​--- ​--r ​emo ​ve- ​--- ​--- ​--
- ​--- ​--- ​------
thisse ​t.r ​emo ​ve( ​" ​ban ​ana ​")
or

thisse ​t.d ​isc ​ard ​("ba ​nan ​a")

 

sets (cont)

------ ​--- ​--- ​--- ​pop ​--- ​--- ​--- ​--
- ​--- ​--- ​-------
x = thisse ​t.p ​op( ​)=> ​remove the
last elet

------ ​--- ​--- ​--- ​cle ​ar- ​--- ​--- ​--
- ​--- ​--- ​-------
thisse ​t.c ​lea ​r() ​=> empty the set
------ ​--- ​--- ​--- ​-de ​l-- ​--- ​--- ​--- ​--
- ​--- ​--- ​-----
del thisset

------ ​--- ​--- ​--- ​joi ​nse ​t-- ​--- ​--
- ​--- ​--- ​-------
set1 = {"a", " ​b" , " ​c"}
set2 = {1, 2, 3}

set3 = set1.u ​nio ​n(set2)
------ ​--- ​--- ​-up ​dat ​e-- ​--- ​--- ​--- ​--
- ​--- ​-----
set1 = {"a", " ​b" , " ​c"}
set2 = {1, 2, 3}

set1.u ​pda ​te( ​set ​2)= ​>add set2 to
set1
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